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QUESTION 1

Using SSL technology, information can be communicated over an encrypted channel. What is SSL? 

A. Standard Security Layer 

B. Smart Stealth Layer 

C. Secure Sockets Layer 

D. Security Standards Layer 

Correct Answer: C 

 

QUESTION 2

How do asset categorization and event categorization relate to each other? 

A. Asset categorization and event categorization are the same. 

B. Asset categorization and event categorization use the same field set to apply categories to assets and events. 

C. Asset categorization requires custom FlexConnectors; event categorization uses standard SmartConnectors. 

D. Asset categorization is the fingerprint of an asset; event categorization is a set of criteria that describes an event. 

Correct Answer: D 

 

QUESTION 3

Which components does a Network Model include? (Select two.) 

A. assets 

B. data monitors 

C. dashboards 

D. zones 

Correct Answer: AD 

 

QUESTION 4

Under which circumstances does a Connector use its cache? (Select two.) 

A. when a burst of events exceeds what the Manager can handle 

B. when the Connector is performing a service restart 
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C. when the Connector is stopped or disabled 

D. when the Connector cannot communicate with its destination 

E. when the Connector cannot communicate with the event source 

Correct Answer: AD 

 

QUESTION 5

What must be done to a local Variable before it can be used with multiple resources? 

A. It must be renamed. 

B. It must be copied. 

C. It must be moved it to a new resource. 

D. It must be promoted to a Global Variable. 

Correct Answer: D 
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